Programming: Test 3                     Good Luck to:__________________________________
Unit: Program Statements 
Multiple Choice:

1. _____Of the following if statements, which one correctly executes three instructions if the condition is true?
a)  if (x < 0) 




          a = b * 2;





         y = x;





          z = a – y;






c) if { (x < 0)

    a = b * 2;


y = x;


z = a – y ;

   }

e) b, c and d are all correct, but not a
2. _____Which of the sets of statements below will add 1 to x if x is positive and subtract 1 from x if x is negative but leave x alone if x is 0?
a. if (x > 0)
  
     x++;

else 
     x--;

b. if (x > 0) 
     x++;

else if (x < 0) 
     x--;

c. if (x > 0) 
     x++;

if (x < 0) 
     x--;

else 
     x = 0;

d. if (x == 0) 
     x = 0;

else 
     x++;

x--;

e. x++;

x--;

Given the nested if-else structure below, answer questions 3-5.  


if (a > 0)








      if (b < 0)








x = x + 5;







      else 

    

if (a > 5)








        

x = x + 4;

       

else 

       

 x = x + 3;

      else


       x = x + 2;

3. _____If x is currently 0, a = 5 and b = 5, what will x become after the above statement is executed?

a. 0

b. 2

c. 3

d. 4

e. 5
4. _____If x is currently 0, a = 0 and b = -5, what will x become after the above statement is executed?

a. 0

b. 2

c. 3

d. 4

e. 5

5. _____If x is currently 0, a = 1 and b = -1, what will x become after the above statement is executed?

a. 0

b. 2

c. 3

d. 4

e. 5

6. _____Assume that x and y are int variables with x = 5, y = 3, and a and d are char variables with a = 'a' and d = 'A', and examine the following conditions:
Condition 1:  (x < y && x > 0)

Condition 2:  (a != d || x != 5)

Condition 3:  !(true && false)

Condition 4:  (x > y || a == 'A' || d != 'A')
a) All 4 Conditions are true

b) Only Condition 2 is true

c) Condition 2 and Condition 4 are true only

d) Conditions 2, 3 and 4 are all true, Condition 1 is not

e) All 4 Conditions are false

7. _____If x is an int where x = 1, what will x be after the following loop terminates?
while (x < 100)

     x *= 2;
a) 2

b) 64

c) 100

d) 128

e) None of the above, this is an infinite loop 
8. _____If x is an int where x = 0, what will x be after the following loop terminates?
while (x < 100)

     x *= 2;
a) 2

b) 64

c) 100

d) 128

e) None of the above, this is an infinite loop 
True/False:
9. _____In Java, the symbol “=” and the symbol “==” are used interchangeably. That is, you can use one or the other.

10. _____The following for-loop is an infinite loop.

(for int j = 0; j < 1000; j++);
11. _____ Assume: boolean done = false, int x = 10, int y = 11
The expression (!done && x <=y) is true

12.  _____ The expression a || b will be true if either a or b is true, but not if both 
are true.

Free Response:

13.  Consider the following code fragment. What is displayed if x is 5?


if (x > 5 )



{




System.out.println(“A”);




if ( x < 10 )





System.out.println(“B”);



}



Else




System.out.println(“C”);

Answer:

14.  A truth table shows, for the various true or false values of boolean variables, what the result of a boolean condition is.  Fill in the following truth table.  Assume that a, b and c are boolean variables.
	a
	b
	c
	a && (!b || c)

	False
	False
	False
	

	False
	False
	True
	

	False
	True
	False
	

	False 
	True
	True
	

	True
	False
	False
	

	True
	False
	True
	

	True
	True
	False
	

	True
	True
	True 
	


BONUS 1:

Show the output that would occur from the following code, including proper spacing.
for(j = 0; j < 5; j++)

{

     for(k = 0; k < 5; k++)


if(j!=k) System.out.print('  ');

      else System.out.print('*');



     System.out.println(  );

                             }


BONUS 2:  How many times will the System.out.println(“*”); statement execute inside 
of the following nested for-loops?
for(j=0; j<10; j++)

   for(k=10;k>j;k--)

       System.out.println("*");

 {


    if (x < 0)


	a = b * 2;


	y = x;


	z = a – y;


 }








d) if (x < 0)			


{


a = b * 2;


y = x;


z = a – y;


     }











